
5.1 Extreme Value                 NAME:__________________________ 

 

          DATE:_______ 

 

Find the extreme values and where they occur. 
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2. 

 

3. 

 

Find the critical points. 

4.  𝑓(𝑥) = 𝑥2(𝑥 − 3) 
 

 

 

 

 

 

 

 

 

 

 

5.  𝑔(𝑡) = (𝑡 + 2)
2

3 

 
6.  ℎ(𝑥) = 𝑥 +

32

𝑥2
 

 

7.  𝑓(𝑥) = 𝑥2 ln 𝑥 

 

 

 

 

 

 

 

 

 

 

 

 

 

8.  ℎ(𝑥) = 2 cos(2𝑥)  

       where −2𝜋 ≤ 𝑥 ≤ 2𝜋 

9.  𝑔(𝑥) = 𝑥2𝑒𝑥 

Corrective Assignment 

aAignmentAAssignment 



Find the absolute maximum and minimum values of the function on the given interval. 

10.  𝑓(𝑥) = −𝑥2 + 3𝑥,     [0, 3] 

 

 

 

 

 

 

 

 

 

 

 

11.  𝑓(𝑥) = 𝑥3 − 12𝑥,     [0, 4] 
 

 

 

 

 

 

 

 

 

12.  𝑓(𝑥) =
16𝑥

𝑥2+16
,     [−5,−1] 

 

 

 

 

 

 

 

 

 

 

 

13.  𝑓(𝑥) = 3𝑥
2

3 − 2𝑥,     [−1, 1] 
 

 

 

 

 

 

 

 

 

14.  𝑓(𝑥) = cos𝜋𝑥,     [0,
3

2
] 

 

 

 

 

 

 

 

 

15.  𝑓(𝑥) =
ln 𝑥

𝑥
     [1, 3] 

 

 

 

 

 

 

 

 

ANSWERS TO CORRECTIVE ASSIGNMENT 

1.  local min of −2 when 𝑥 = −4 

     local min of 2 when 𝑥 = −1, 1 

     local max of 3 when 𝑥 = 0 

     abs max of 4 when 𝑥 = 2 

2.  local min of −1 when 𝑥 = −5 

     local max of 1 when 𝑥 = −3 

     local min of 0 when 𝑥 = −2 

     local max of 3 when 𝑥 = 1 

     local min of 1 when 𝑥 = 3 

     abs max of 4 when 𝑥 = 5 

3.  local min of −1 when 𝑥 = −5 

     local max of 2 when 𝑥 = −1 

     abs min of −4 when 𝑥 = 2 

     abs max of 4 when 𝑥 = 4 

4.  𝑥 = 0, 2 5.  𝑥 = −2 6.  𝑥 = 0, 4 7.  𝑥 = 𝑒−
1

2 8.  𝑥 = 0,±
𝜋

2
, ±𝜋 9.  𝑥 = 0,−2 

10.  𝑓(0) = 0   abs min 

      𝑓 (
3

2
) =

9

4
   abs max 

      𝑓(3) = 0    abs min 

11.  𝑓(0) = 0    

      𝑓(2) = −16   abs min 

      𝑓(4) = 16    abs max 

12.  𝑓(−5) = −
80

41
    

      𝑓(−4) = −2   abs min 

      𝑓(−1) = −
16

17
    abs max 

13.  𝑓(−1) = 5   abs max 

      𝑓(0) = 0   abs min 

      𝑓(1) = 1     

14.  𝑓(0) = 1   abs max 

      𝑓(1) = −1   abs min 

      𝑓 (
3

2
) = 0     

15.  𝑓(1) = 0   abs min 

      𝑓(𝑒) =
1

𝑒
   abs max 

      𝑓(3) =
ln3

3
     

 

 

 


